Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2017

Subject Name : Transportation Engineering
Subject Code : 2TEO4TRE1 Branch: Diploma (Civil)

Semester : 4 Date : 20/04/2017 Time : 10:30 To 01:30 Marks : 70
Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams and figures (if necessary) at right places.

(4) Assume suitable data if needed.

Q-1 Attempt the following questions:
a  The maximum width of vehicle as per IRC Specification is m.
(i) 1.22 (i)2  (iii) 2.44 (iv) 2.50
b is an example of Rigid Pavement.

(i) R.C.C Road (i) Bituminous road

(ili) W.B.M Road  (iv) All of above
c Formation width =

(i)Right of way + Width of carriage way

(if) width of Shoulder + Right of way

(iii) Width of carriage way - width of Shoulder

(iv) Width of carriage way + width of Shoulder
d  Passenger car Unit for Motor-cycle is

(1.0 (i) 0.5 (i) 1.5 (iv) 2.0
e Parking Sign is sign.

(i) Regulatory  (ii) Warning (iii) Informatory (iv) None of these
f

A

Above Sign indicates

(i) Compulsory ahead or turn left  (ii) Compulsory ahead or turn right

(iii) Compulsory turn right (iv) Compulsory ahead only
g  When the bridge flooring is provided at the top of the super-structure, it is

called bridge.
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(i) Through (if) Deck  (iii) Semi-through (iv) Foot

When n = numbers of spans , I= clear span and b= width of pier, then length of

bridge =
(i) L= (n*D+(n-D*b  (ii) L= (n*)-(n-1)*b

(iii) L= (nD)-(n+)*b  (iv) L= (nl)+(n+)*b

Is used for bridge foundation when sufficient bearing capacity
is available at 2 to 5 m. depth and water table at great depth.

(i) Pad footing (ii) Strip footing

(iii) Combined footing (iv) Raft footing

Which force is not acting on sub-structure of bridge?

(i) Water pressure (if) Wind load

(iii) Buoyancy (iv) Uplift pressure

In a broad gauge, Clear horizontal distance between the inner faces is m.

(i) 1.767 (ii) 1.676 (iii) 1.776  (iv) 1.667
crossing is obtained when a left hand rail of one track crosses a
right hand rail of another track or vice versa.
(i) Acute angle (ii) Obtuse angle (iii) Right angle  (iv) Spring crossing
is a yard where trains and other loads are received, stored out
and new trains formed and dispatched onwards.
(1) Loco Yard (i1) Goods Yard (iii) Marshalling Yard  (iv) Hump
is the number of sleepers per rail length.

(1) Sleeper area (it) Sleeper volume
(iii) Sleeper density (iv) Sleeper length
Attempt any four questions from Q-2 to Q-8
Attempt all questions
Write in brief:- Factors affecting road alignment
Draw a cross-section of road and narrate any four component of road in brief.
Attempt all questions
A horizontal circular curve has a radius 100 m. If a design speed of vehicle is
50 kmph and f=0.15,

(@) Calculate super-elevation

(b) Lateral co-efficient if no super-elevation is provided.

(c) Equilibrium super-elevation if pressure on outer and inner wheel is

equal.
Define:- Surface Drainage and sub-surface drainage. Also explain importance
of highway drainage.
Attempt all questions
Define:- Pavement. Also write down types of pavement.
List various traffic survey’s, also explain O&D survey in detail.
Attempt all questions
List various deficiencies in the flexible pavements and explain in brief.
Discuss various components of a bridge with neat sketch.
Attempt all questions
Explain with neat sketch:- (I) Afflux
(1) Free-board

Give a functions and requirements of bridge foundations.

Attempt all questions
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Discuss various defects in bridge and its remedial measures.
Define:- (a) Rails (b) Sleepers (c) Sub-ballast (d) Square joints
(e) Staggered joints (f) Adzing of sleeper (g) Aqueduct

Attempt all questions

Explain functions and requirements of goods yards.

Define Crossing, Give a types of crossing also write down any two with neat
sketch.

Attempt the following questions:

IRC A3t YHIAL cllot ofl HedH udlelad L sla®.
()RR (ii)? (i) ¥¥ (iv) U0
A a3 gA-0ltl of GElSR0U B,
(i) R.C.CRs (i) ollejlott As
(iii)) W.B.MAS  (iv) AU olules
ERNERTRNUE
()Ae52 g A + cllsat HT ofl uslsta
(i) oA ol B ACER ofl USlSLaL + ALFe AL A
(iii) cltsot HIT ofl USIslal - o il W ACER ofl USIsLA
(iv) cltot H9T ofl USIsLaL + ol ol A AeeR ol uglstal
Hle-AASA 12 AAR 81R Yolle =
(Lo (ii)ou (i) (iv)R0
Ut (Aeuell Ys( ofl (Aot ® .
(i) BEAWHS (i) Aol e2ls (i) HSA-Ue  (iv) 20t WSl A3
a8l

GUR ofl oflauefl 9 £2(A B?
(i) $ABaLA U 19LS WUl Lol wly A austs
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Q-2

(ii) $RA(FaLct UL uLoLs Al wHR(l oley B aAsLs
(iii) $(B2ALct U WHR( oley A aAsLs
(iv) $RAB2ULd UBL AU2LS cltlg
UsIR <Al (3467 ML Ud o sAlR3L YU 234542 <l 214 GUz AL 20 9,
i) 4@ (i) 35 @ (i) -y Q> (iv) g2 @A
2R n =St ofl vl , I= Asull oUSL b=MaR ofl udlsial, Al Yo ofl

yalsta =
(i) L= (n*D)+(n-I)*b (i) L= (n*1)-(n-I)*b
(i) L= (n)-(n+D)*b  (iv) L= (n)+(n+1)*b

Yetofl ULl ol 2sclall HIR %33 tiRel-alsal tRletcdl HEl ot =R 2 Yl U
| Becll Gstes A 1Sl 3l Slat el G R dy Gsles A Sl R
L YsR el WAl duRiA 9.

(i) Qs gdlot (i) Gpu g&loL  (iii) Ayscl gdlot  (iv) Ase gélat

oA oll HLell sall 615 YA oll AG- 2245d2 U &loldl <442

(i) well of eotlot (i) Ucol-@UR  (iii) Baclasdl  (iv) WU-(Ase Eollat
Als Ao HIZ , R ol BER ofl 6l of Wuy] AMUAR vk Hl. Sla®.
() 1959 (i) 1.995 (i) 1.99% (iv) 1.959

s WS 25 oll Lol oley oll Wil ollost 25 otl wHER(l 6ity oll Utel o S
wdcll Aofl [t v AR Al slRLSS B.

(i) dyslel sIRL (i) 213510 SR (iii) steslel slRL

(iv) RJat sIRL

W A ALS O w2 el el 28| 2l waldl HiE-+AHLet
AU ALA53] B R 2ot W HIA-UHLe USlALS clloll Sld A 22etl ML

sH Yo Adlell A6 lal dUSL A §3| &l M| A wglR MsEclHl AU B,

(i) Loco Yard (if) Goods Yard (iii) Marshalling Yard  (iv) Hump
A2 A ul ofl doutd €ls RAUR ofl vl

(i) RAUR Al wilal (i) RAUR of €

(iii) RAUR laddl (iv) RAUR ofl clrous

Attempt any four questions from Q-2 to Q-8
Attempt all questions

xcll ofl ALBal €131 A WU 3l UReS) [Qatdallr AHAl.
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Rl oll USVE €131 Aol 518 URL UR eS| [Qoldclr AHA

Attempt all questions
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A5 5A(AY cAdsisR ds ol A2 100 Hl. B. cllget ol (35t RAS U0
slll/scls wal f=0.9u 8l
(d) %33 Gslal L.
(€) % Golel ol LA Al UnL ofl (Bt 0.
(f) B UER Wa Gl&IR oll USL BUR UY EWILL lcld 88 Al AH Ao
Gslal 2.
cquRdl AU :-AFU %ol ol UOL- ARFYU A%, &LET-A ol ofl MDlRcll

sl SIRRIUR © A el

Attempt all questions
cAuAL AUUL- UG gU6I ol UstA [Qotdallr AHstAl.

255 udsuLL ol Ysik AHscl 0&D UdsURL &5 ML AU
Attempt all questions
st12l suoltll Wl Getadl (At ystR ofl vl oteticll A gsHL AUt

Yt ol (A etoll gl A& [Qotdelr UM,
Attempt all questions
L5(A A [QolcellR AU (1) AsEs2

(OEENE

Yt ol ladloll stall Aol Yt olt wiadl ofl 3l [Qotdar AHxAl.
Attempt all questions

Yd 1L Geetadl Geetadl (AU ysi? ofl wiHl dat dell gl (Qatdau?
RL

calluRll AW- () Ul () el (3) Uol-AARe (¥) R3S A2

(W) WA A2 (5) RAUR of Ws[BoL () Asallsse

Attempt all questions
apsU ALS ol sl At 32l [Qotcdar UMl

cyluAl AU -5\ RL . sIRL (AU YsiR 2seucl sl uet R ysik wigld
AU (AdtctellR AuesAl,
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